
Canonbury Home Learning 

Year 3 Maths - Answers 

Complete at least 2 columns, more if you can! 

Task 1 Task 2 Task 3 Task 4 

Practice 
Complete these calculations: 

a) 1 x 3 =   3               

b) 3 x 5 = 15 

c) 27 = 9 x 3                         

d) 30 = 10 x 3 

e) 3 x 7 =   21               

f) 4 x 3 = 12 

g) 6 x 3 =  18                       

h)  33 = 11 x 3 

i) There are 8 children. 
Each child has three 
Dojo points. How many 
Dojos are there altogether? 8x3=24 
 
j) 3 Dalmatian dogs have 
12 spots each on their 
bodies. How many spots 
are there in total? 3x12 = 36 

Practice 
Use grid method 
to solve these: 
 

1. 28 x 4 =112 

2. 37 x 4 =148 

3. 3 x 36 =108 

4. 23 x 5 =115 

5. 4 x 32 =128 

6. 3 x 43 =129 

7. 37 x 5 =185 

Reasoning  

Can you spot the 
mistake? 

 

Problem solving 

 

 


